log (L*) LABJND threshold lightness
log(L*) L*

L*=(AdA2) In (Ag+AzY)
AF=10  A=0.017 A=0.0058

L* =338 Y,=18
log(L* \)=2.53 m,=0.43
>
application

range
Y518

WES50-1N_1

log AY CIE tristimulus value Y difference
10gAY) AY L= (AJA,) In (Ag+ Ay-Y)

Ap=1.0  A=0.017 A=0.0058
tristimulus value Y difference
log(dY)=log [ (A +Az-Y) [ Ag]

*
Y,=18, dY,=0.12 dY,/Y,=0.006 , ¢

application
range

1

1 Yu=18

WES50-3N_1

log (AY/Y) CIE tristimulus
10g(C,) C/=(AY/Y) value Y contrast
L*= (AgAL) In (Ag +Ay-Y)

AF10  A=0.017 A=0.0058
relative tristimulus value Y contrast
log(@Y/Y) =log [ (A1 +Az )/ (Ag°Y)]

application

.. ~ range
log(@Y/Y)=-2.17, m=-0.13" ~

WES50-5N_1

log (Y/AY) CIE tristimulus

log(S) S=(v/ay) value sensitivity

L*= (AJAZ) In (AL +Az°Y)

A=10  A=0.017 A=0.0058
relative tristimulus value Y sensitivity
log(Y/dY)=log [ (Ai+A2"Y) I (Ag-Y) ]

L* =338 Y,=18, dY,=0.12 Y,/dY =148
log(Y/dY)=2.17, m,;=0.13

application
| range
1Y,=18

1
WES50-7N_1

WES50-7N

log (L*/L* ) relative LABIND threshold lightnes:
L¥/L*

L¥L* = In (Ap+ A Y) = In (A + AyYy)
Ap=1.0 A=0.017 A=0.0058

L*,=338 Y,=18

log[(L*/L* ;)]=0, m,;=0.43
: application
) range
1Y, =180

WES550-2N_1
log(AY/AY) relative CIE tristimulus
INUNE value Y difference
L*=(AgA) In (Ay+ Az"Y)
A=1.0  A=0.017 A=0.0058
relative tristimulus value Y difference
log(dY/dY,) = log (A, + A2"Y)
—log (A1 + Az Yy)
Y,=18, dY,=0.12 dY,/Y=0.006
log[(dY)(dY,)]=0, m,=0.86

application
range

WES50-4N_1

log [(AYZY) I (AY/Yy)] relative CIE tristimulus
C,/C,=(AYY)/(AYIY,) value Y contrast
L*= (AJA) In (AL +Ap°Y)
AF1.0  A=0.017 A=0.0058
tristimulus value Y contrast
log[(dY/M)/(dY,/Y,)] = log [ (AL + Az Y) /Y]
—log [ (AL +AyYy) /Yyl

application
range
log[(dY/Y)(dY,/Y,)]=0, m;=-0.13
Y,=18, dY,=0.12 dY,/Y,=0.006

WES50-6N_1

log [(Y/AY) / (Yy/AYy)] relative CIE tristimulus
10g(S)  S/Su=(Y/AY)/(Y,/AY,) value Y sensitivity
L*=(AdA2) In (Ag+ Az"Y)
A=10  A=0.017 A=0.0058
relative tristimulus value Y sensitivity
log[(Y/dY)/(Y /dY)]=10g [Y / (Ar+ Ay Y) ]

=log [Yu/ (A1 + A2 Yy) ]

L* =338 Y,=18, dY,=0.12 Y,/dY =148
10g[(Y/dY)(Y,/dY,)]=0, mu 013

appl -atEJn-
range

100

WES50-8N_1




